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2N 248
H: QIRAZAH(SAHES)
Sl RIAZA Y BM=X N (sl &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O&=J Xtz 50,000 * 404 ~ 12& 2,400
O33A&E SR Ldet=ZH|
300,000& = 12& 3,600
02 332494l 135,280 131,530 3,750
03322 % MA 72,080
&I 2 2R3 5,000,000& * 12& 60,000
~HAIE S L FAXR S 100,000& * 12& 1,200
-HlaZAlE &2
60,000& = 24 = 128 1,440
“FNENSE 22 600,000 * 12& 7,200
~HASZTE HRIEOX} MIIRB
1,440,000& 1,440
—SENLHRE S 100,000& * 23] 200
—SASSAISE2 50,000& = 12& 600
Oodtg A= H| 11,000& * 8Al2F » 105¢ 9,240
OAl& &Y *X2elbl 29,850
-2 2K X 48I(3,715m") 5,000,000& 5,000
-OlE0U2 3t&EA 1,800,000& 1,800
-HlaZS A4 1,500,000 * 2J0 2 3,000
M= ol F I 100,000& * 1CH 100
-H&E&d |X2e 190,000& * 2404 4,560
-HASZE 270,000 * 57 A 15,390
OFAN Z2F X122 9,000,000 9,000
OFAI 23 A =3 770,000& = 23| 1,540
(@PNE=FaR=1a:] 5,350,000& 5,350
ORolBHAIAE 520,000& = 12& 6,240
OHIMYAIAE AIER2
55,000 » 34 = 128 1,980
405 XtabF SHI 27,000 0 27,000
01 AL 2B F SHI 27,000 0 27,000
OSEAN &1 27,000
-ZHolH 2 22,000,000& * 1JH A 22,000
=2 2 5,000,000 5,000
NoiAE 2 HE AN X2 1,200 1,200 0
201 L2 Y| 1,200 1,200 0
01 At 22l Yl 1,200 1,200 0
OXNYGMIBEENG S S =E
20,000& ~ 159 = 43| 1,200
SOHARBALET(SHE) 276,642 274,839 1,803
AR2AIEFA 276,642 274,839 1,803
OIRoZE & AR2AS 92,842 92,539 303
101 @121l 14,642 13,939 703
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Hu: SHAROANYEN(SHE)
Sl ARSAYEX CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
04 JI2ZtH 22 XNHEE =+ 14,642 13,939 703
Oorgtte s4a JtRI| oy 14,642
=0 73,2803 * 29 x 90 13,191
-AMEBEE 28" =a 13,190,400& * 11% 1,451
201 LEt2AY| 7,200 6,600 600
02 33294l 7,200 6,600 600
OEXOlE HZAAH(D-DAS) & XAl &2|dl
1,800,000 * 4& 7| 7,200
401 Al HI L 2 0HHI 71,000 72,000 A 1,000
01 A& HI 55,000 56,000 A 1,000
O&g2 5 AM&E A2 50,000,000& 50,000
O2AZAME XNE S SEE&9H 5,000,000 5,000
03 A& 2 0HH] 16,000 16,000 0
Oz 2 sta4dd &4l X 10,000,000 10,000
OMNE&E &Y Xz 5,000,000& 5,000
Og=) 88 & =2y 1,000,000& 1,000
Z2AXHAIE 33,800 32,300 1,500
201 LEt2AY| 1,000 800 200
01 AFR2t2l bl 1,000 800 200
oorstie s4& Jt3RJ| 23+7Y
1,000,000& 1,000
206 M = Hl 8,000 12,000 A4,000
01 X2 Hl 8,000 12,000 A4,000
Ooorstie 84& Ji3J| Mg #*¢
3,000,000& 3,000
OOELIE2 S4& JIRIIAIY S
5,000,000& 5,000
401 Al HI L 2 0HHI 24,800 19,500 5,300
01 Al &HI 20,000 15,500 4,500
oorstte 8484& Ji3RI| M=&g
5,000,000& =* 33 15,000
Ootshtie s8& SA&2AMd 5,000,000 5,000
03 A& 20 b 4,800 4,000 800
OOIEti2 843 JI1J| Hdlgxs
600,000& * 8¢ 4,800
FOIE O ofl & 150,000 150,000 0
401 Al HIL 20| 150,000 150,000 0
01 A& bl 150,000 150,000 0
OS4da A Z s+ XA
20,000,000& 20,000
OZAH2 =70 &XAY 60,000,000& 60,000
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Hu: SHAROANYEN(SHE)
el AR2AGFA eEH)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
ORARE SJAY 20,000,000& 20,000
O34dg 922 a2 248AY 25,000, 000& 25,000
OYMI 7 FOHEEH LAY 25,000, 000& 25,000
HMHAH (SHES) 152,900 132,160 20,740
23l (s4ds) 152,900 132, 160 20,740
Jl23Hl 152,900 132,160 20,740
201 et A H| 70,940 75,040 A4,100
01 At 22l bl 53,094 48,930 4,164
Oga+Y dl) 14,490,000 14,490
Ooget+g2 9,180,000& 9,180
OZ2 &l 9,216,000 9,216
Oo=8J ¢« 177,000 = 20 ~ 12& 4,248
O™ &H| = 7l 15,960
-2z el 8,800
- EY 440,000& = 200 * 45 = 23] 7,040
- Ed 440,000& * 200 * 23] 1,760
-l et el 200,000& * 1100 = 23] 4,400
-FAX 120,000 = 104 = 33 360
—SEoAUIIN(EY)
300,000 = 2CH = 43| 2,400
02 332494l 17,846 26,110 N8,264
O2222 2 JMAMd(fEH23) 13,000,000& 13,000
O™ &L S X224l 4,846
-CtJI s At 1,300,000& = 260CH * 5% 1,690
-2l EH 4,000,000& * 13CH * 2% 1,040
-FAX 600,000 * 1CH * 2% 12
-SEoa 46,0008 * 204 = 128 1,104
-CCTV & 2,000,000& * 10CH = 5% 1,000
202 04| 70,200 45,360 24,840
02 X0 b| 70,200 45,360 24,840
OEHAHYI 225,000 * 26¥ x 128 70,200
203 &R =&H| 11,760 11,760 0
01 J|22HLR=AH| 6,600 6,600 0]
os& 550,000 = 12& 6,600
02 HRJAE R =XY| 960 960 0
O&XJ A& & AH| 40,000& * 249Y 960
04 EANSHLRF=AH| 4,200 4,200 0]
OBN2gI2F=8Y| 350,000 = 128 4,200




